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ARG R2HE

BF
JBGL. F—Ls aiteA B 200m  400m  800m 1500m 5000m 110mH 400mH 3000mSC 5000mW 4x100mR 4x400mR FEEBE =Bk EEBE BBk FaiiS MRS -1 DYER Esn
100m
1 &8 102 6+8+7 8+6+2 3 6+4+8 8 8 8 7 8+5
2 ftH 89 3 7 7+8 4 4 6 4+8 8 4+6 6+8 6
3 Z3l 61 5+2 5+1 3 7 5 5 6 6 5 1+8 2
4 F® I 49 1+4 4+7 4+1 5 5+6 5 7
5 HEHRK 48  4+3 7 8 6 8 3 8 1
6 &t 34 8 7 3 7+5 4
ikl 34 2 2 3 6 2 2 6+4 7
8 20l 33 5 7 5 6 5 5
9 AR 29 1 5 2 1+4 7 2+4 3
10 JRE 28 7+8 3 7 2 1
11 &% 27 7+3 2 1 8+6
12 JeiEig 26 3+6+5 5 7
13 B2 17 8 6 3
14 $#&E50 16 6 7 3
14 HEEFEE 16 6 3 7
16 kLl 15 3 2 2+4 1+3
17 R 14 2 8 4
18 BERKRER 11 6 5
19 3EJI1 11 5+4 2
20 FERE 10 2 8
21 & 10 4 3 3
22 M5 9 1 1+4 3
23 WHKME 7 7
23 T%¥ 7 7
25 £% 7 1+6
26 {EENILRLSE 7 3 4
27 MEETA 5 5
21 R¥ 5 5
29 dnfE 5 4 1
29 WERXEK 5 1 4
31 BB 3 3
32 EEXEB 3 2 1
33 BB 2 2
33 M5 2 2
33 WEKM 2 2
33 Mt 2 2
37 AfH 2 1 1
38 tFEH 1 1
39 LEIHEF 0.5 05
39 wZ 0.5 05
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30 AEE

ZF
JBGL F—Ls aitiea H®  200m  400m  800m 1500m 3000m 100mH 400mH 5000mW 4x100mR 4x400mR E= Bk #E=Bk EIZBE =B fahilk MRS A% DYR tEs
100m

1 RERAE 156.33 8+6 8+5+4  5+6 5 5+8 5+8 7+8 6+7 8 7 0.33 3 6 4+6 4 4+2 4 7
2 REBXH 86.33 3+1 2 2+7  7+8+6 6 3 3 6 6 0.33+3 1+8 5 3+6
3 PG 78 4 1+3 3 5+2 1 8 5 4 5 8+7 5 2 3+8 4
4 HHE 69 5+7 6+7  8+4+3 6 8 7 8

5 FRABFE L 56 1 2 5 7 3 3 5 8+3 3+5 6+3 2
6 Z 3 48 2 4 5 3+2 3 7+2 6 7 7

7R 33 2 5+2 2+4 5 5+8
8 kil 23 4 6+4 4+3 1 1

9 fEE 22 6 8 8

10 AfEL 20 7+4 4 5

11 &R 19 6 7+6

12 #E50 15 8 7

13 BiEXE 15 8 6+1

14 5 12 1 6+5

15 WEIHEF 11 4 7

16 EERKER 9 2 7

17 RE XM 7 7

18 M5 4 4

18 B3 4 4

18 B 4 4
21 1L 4 1 3
22 £% 4 2 2
23 B0 3 3
24 SIEEE 3 1 1 1
25 EEHER 2 2

25 AL 2 2

25 RENEFEE 2 2

25 &L 2 2

29 WA E 1.33 0.33 1

30 &H 1 1

30 b 1 1

30 EER 1 1
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